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INSTRUCTIONS
1. Write your registration number in the space provided in the answer booklet.

2. You have fifteen (15) minutes to read the instructions, clarify doubts, make sure that you have all FOURTEEN (14) pages, and check to see if there is any printing error. This question paper has FOURTEEN (14) pages, including this instruction page. DO NOT write during this time.
3. This question paper is in PARTS I and II:

· PART I with seventy (70) multiple choice questions of one (1) mark each (numbered 1-70); and
· PART II with ten (10) short answer questions of three (3) marks each (numbered 1-10). 
4. All questions are compulsory. Clearly indicate the part and question number against each answer in the answer booklet. No marks will be given for any answer without such indication or incorrect indication.
5. All answers MUST be written in the answer booklet provided to you. You will NOT be given any mark for answers written other than in the answer booklet. Ask for additional answer booklet, if required. Begin each part in a fresh page.
6. DO NOT tear off any sheet from the answer booklet as well as the question paper.

7. Handover the answer booklet to the invigilator BEFORE you leave the examination hall.

GOOD LUCK!

PART I: MULTIPLE CHOICE QUESTIONS 
Choose from (a)-(d) and clearly write the letter designating the correct answer to each of the following questions. Each question carries ONE mark each. You will NOT be given any mark for choosing more than one answers or smudgy answers.
1. Standard of proof in:
(a) Civil and criminal cases is the same

(b) Criminal cases is much more higher than in civil cases
(c) Criminal cases is much lower than in civil cases
(d) Civil cases is much more higher than in criminal cases
2. What is a precedent? 

(a) A previous decision made in a court which informs future cases

(b) A set of codes or written rules

(c) A jury’s decision

(d) A senior judge

3. The term ‘private law’ refers to:

(a) The body of laws that seeks to regulate the relationship between individuals
(b) The body of laws that derives from the deciding of cases
(c) The legal principles that states that a person has the right to privacy

(d) The body of laws that seeks to regulate the relationship between the state and its citizens

4. The system of checks and balances designed to prevent one branch of government from encroaching on the power of another branch is known as:

(a) Constitutional convent powers

(b) Separation of powers

(c) Delegation of powers

(d) Misuse of powers
5. All are examples of external aids to construction of an Act of Parliament EXCEPT:
(a) Parliamentary history of the legislation

(b) Reference to other statutes

(c) Use of foreign decisions

(d) Preamble to the Act
6. Which of the following is CORRECTLY matched?

(a) Civil law: Australia 

(b) Civil law: France 

(c) Civil law: Canada

(d) Civil law: Singapore

7. Quotation of prices sent in reply to a query regarding price is:
(a) An offer

(b) An invitation to offer

(c) A counter offer
(d) Another name for acceptance
8. Which one of the following statements is INCORRECT regarding the law of agency:

(a) It regulates the relationships between agents and principals

(b) It regulates the relationships between agents and the third parties with whom they deal on their principals’ behalf

(c) It regulates the relationships between principals and the third parties when the agents purport to deal on principal’s behalf

(d) It regulates any type of relationships between agents and principles

9. What is the adjective usually used to describe civil law system?
(a) Adversarial

(b) Inquisitorial

(c) Adjudicatory

(d) Confrontational 
10. What is the role of a third party in conciliation?

(a) To make a decision on the facts of the matter

(b) To suggest appropriate solutions

(c) To act as judge

(d) To tell each side what to argue
11. Which ONE of the following would you identify as central to the classical law of contract?

(a) Freedom of information 

(b) Freedom of contract

(c) Freedom from oppression

(d) Consumer protection
12. Which one of the following statements is CORRECT? 

(a) Legislative acts passed by the Thromde are called resolutions and ordinance

(b) Legislative acts passed by the Thromde are called resolutions

(c) Legislative acts passed by the Thromde are called ordinances

(d) Both ordinances and resolutions are solemn and formal acts
13. Generally, which one of the following statements is most ACCURATE?

(a) In civil cases, the state brings the prosecution

(b) In civil cases, the state is not involved, except that it provides the courts and court staff

(c) Civil cases have nothing whatsoever to do with the state

(d) Civil cases are exclusively run by the Office of Attorney General
14. Which ONE of the following is the essential elements of a valid contract:

(a) Legality of purpose

(b) Parol evidence

(c) Reasonable claim

(d) Memorandum of belief
15. Which one of the following is NOT evidence?
(a) Testimony

(b) Exhibits
(c) Jury instructions
(d) Stipulated facts
16. In criminal law, what refers to an act that, though criminal in other circumstances, may not be considered criminal because of the compelling force of the circumstances?

(a) Duress

(b) Mistake

(c) Insanity

(d) Necessity 
17. The common law traditionally originated from the early form of law:
(a) Acts of Parliament

(b) Equity

(c) Custom

(d) Delegated legislation
18. A kind of evidence, which cannot be rebutted or overcome:

(a) Conclusive 

(b) Primary

(c) Best

(d) Secondary
19. What does ‘honour clauses’ in business agreements mean?

(a) It is a clause covering business ethic

(b) The clause means that the agreement is not legally enforceable

(c) The clause means that the agreement is enforceable in the courts

(d) The directors of a company are personally liable for the agreement
20. Which ONE of the following falls primarily under civil law?

(a) Extortion

(b) Corruption

(c) Divorce 

(d) Tax fraud
21. The primary aim of the law of restitution is:
(a) To provide a common standard for calculating damages

(b) To prevent the premature termination of a contract

(c) To prevent unjust enrichment

(d) To encourage the use of alternative dispute resolution
22. The term company may be defined as:

(a) A partnership of shareholders

(b) An artificially created legal person

(c) A government body

(d) A group consisting of board of directors
23. The purposive approach to interpretation of statute means that:
(a) A judge must interpret the statute in the light of the purpose of its enactment
(b) A judge must interpret the statute on purpose
(c) A judge must interpret the statute with a purposeful manner
(d) A judge must interpret the statute in the purpose of deciding the case before him or her
24. In a civil action, what term is given about the defendant if the claimants win their case?

(a) Not liable 

(b) Guilty

(c) Liable 

(d) Offender

25. Statutes are also known as:

(a) Legislation or Acts of Parliament

(b) Regulations or Instruments

(c) Regulations or Directives

(d) Common law
26. What does economic analysis of law means?

(a) The concept that economic considerations should inform the law

(b) The concept that prices ought to be considered in judgements

(c) The concept that the costs of litigation affect legal change

(d) The concept that law is distinct from economics
27. A decision rendered by an arbitral tribunal that is binding on the parties is known as (a)n:

(a) Judgement

(b) Award

(c) Settlement

(d) Order

28. If a defendant is compelled to carry out particular action, it is called:

(a) Injunction

(b) Specific performance 

(c) Paying damages

(d) Rescission

29. What is ‘limited liability’?

(a) It refers to how much the directors are liable in the event of the company becoming insolvent

(b) It refers to the ability of a member to limit his or her liability

(c) It refers to the directors’ ability to limit their liability for acts of negligence, fraud etc.

(d) It refers to the ability of a chief executive officer to limit his or her liability
30. In a criminal case that goes to court, who takes action against the defendant?

(a) The prosecutor

(b) The judge

(c) The jury

(d) The claimant

31. Pema sues Choden for money due on a bond. The execution of bond is admitted but Choden says that it was obtained by fraud, which Pema denies. The burden of proof is:
(a) On Pema
(b) On Choden
(c) On the State
(d) On Pema and Choden both  
32. Which of the following is a defense when a person commits a crime only due to a threat of unlawful act of another?
(a) Necessity
(b) Insanity
(c) Infancy
(d) Duress
33. What is meant by statutory interpretation?

(a) The interpretation of a statute only by the high court

(b) The interpretation of a statute only by the Supreme Court

(c) The interpretation of a statute by courts 

(d) The interpretation of a statute only by Dzongkhag courts

34. What do you mean by a proof ‘beyond reasonable doubt’?
(a) The burden of proof

(b) The standard of proof

(c) The balance of probabilities

(d) A criminal defence

35. A trust that arises in the absence of an express declaration where a person holds legal title in circumstances where they can not be taken to have full equitable ownership:
(a) Resulting trust

(b) Expressed trust
(c) Implied trust
(d) All of the above
 
36. The rule that there is no crime or punishment without a pre-existing law that prohibits that crime:
(a) Rule of legality 
(b) Rule of lenity
(c) Rule of rank 
(d) Rule of four
37. The legal doctrine which states that, an employer is responsible for the actions of employees performed within the course of their employment:

(a) Strict liability

(b) Secondary liability 

(c) Respondeat superior

(d) Current liability
38. What does ‘Stare decisis” mean?
(a) Words said in passing 
(b) Once made the decision must not be changed
(c) Stand by things decided
(d) Decision is made based on legislations
39. Which one of the following may NOT be considered as advantages of legislation over precedent?

(a) Abrogative power

(b) Consistency

(c) Prospective application

(d) Systematic arrangement

40. As defined in INCOTERMS, CFR stands for:

(a) Cost Free

(b) Cost, Freight and Risk

(c) Cost and Freight

(d) Carriage at Frontier
41. Which one of the following statements is CORRECT about obiter dicta?
(a) A binding part of decisions
(b) Has a persuasive authority in future cases
(c) A decision made by a lower court which is not binding on higher courts
(d) A decision made in error of law 
42. A preliminary statement in a contract or deed explaining the background of the transaction or showing the existence of particular facts: 
(a) Recital

(b) Preamble 

(c) Preface 
(d) Prelude 
43. An indirect tax is charged on:

(a) Income
(b) Spending
(c) Profits

(d) Gains
44. In a civil hearing, the ‘plaintiff’ refers to:

(a) The accused

(b) The state

(c) An individual or organisation

(d) The reigning sovereign

45. Which one of the following is NOT a method of avoiding a precedent?

(a) Distinguishing

(b) Reversing

(c) Overruling

(d) Dissenting

46. What is a landmark decision?

(a) A decision which concerns the neighbourhood principle

(b) A Decision which establishes a legal principle

(c) A decision which includes words said in passing

(d) A decision made in the Supreme Court of Bhutan

47. The primary difference between murder and manslaughter is:

(a) Murder requires a voluntary act

(b) Murder lacks lawful justification or excuse

(c) Manslaughter involves malice aforethought

(d) Murder involves malice aforethought

48. Essentially, a civil action aims to:

(a) Punishment the defendant

(b) Restore the claimants back to their position before the act took place

(c) Reward the claimant

(d) Provide an equitable remedy

49. Which one of the following is an APPROPRIATE tort for addressing the unlawful interference with another’s land?
(a) Nuisance
(b) Negligence
(c) Negligent misstatements
(d) Pure economic loss
50. A tax imposed on an import is a (n):

(a) Tariff

(b) Severance tax

(c) Excise tax

(d) Surcharge
51. What is the downside of using precedent?

(a) Legislations may be overturned by future cases

(b) Past cases cannot cover every eventuality

(c) The outcome is unpredictable
(d) Cases are out of date and irrelevant

52. In relation to the sporting goods manufacturer ‘Nike’, its ‘swooosh’ is an example of:
(a) Copyright 
(b) Design right 
(c) Patent 
(d) Trade mark 
53. Civil liability means:

(a) The claimant has been found guilty

(b) The defendant has been found to have wronged another

(c) The defendant faces a prison sentence

(d) The claimants have lost their case

54. The limits of the government’s power and the rights of the individual are decided by:

(a) Law of agency
(b) Statutory law

(c) Administrative law 

(d) Constitutional law

55. What is ‘bail’?
(a) The release from custody, pending a civil trial, of an accused on the promise that money will be paid if he or she absconds

(b) The release from custody, pending a criminal trial, of an accused on the promise that money will be paid if he or she absconds
(c) The remand in custody, pending a civil trial, of an accused
(d) The remand in custody, pending a criminal trial, of an accused
56. The power of a court to enter a binding judgment against a person or other legal entity:

(a) Original jurisdiction
(b) Limited jurisdiction
(c) Special jurisdiction
(d) In personam jurisdiction
57. Transfer of title to local government when a person dies without heirs:
(a) Reversion

(b) Foreclosure

(c) Eminent domain

(d) Escheat
58. When customers write a check on their account, what kind of legal relationship arises between the bank and the customers?
(a) A tort relationship

(b) A secured transaction relationship
(c) An agency relationship
(d) A sales relationship
59. Under the writ of mandamus, the court can:
(a) Ask the person to be produced
(b) Order to transfer the case from one court
(c) Ask to let a person free for a temporary period
(d) Direct the government to do or not to do a thing
60. Which of the following is an INACCURATE statement?
(a) A libel is a defamation made in a permanent form

(b) A slander is a defamation made in a temporary form
(c) A slander may be made orally
(d) A libel must be made in writing
61. What do you mean by ‘fact in issue’?
(a) Fact, existence or non-existence of which is admitted by the parties
(b) Fact, existence or non-existence of which is disputed by the parties
(c) Fact, existence or non-existence of which is not disputed by the parties
(d) Facts involved indirectly
62. Materials that discuss, explain, interpret, and analyze what the law is or what it should be:
(a) Secondary sources of law
(b) Primary sources of law

(c) Forces of law
(d) Authority of law
63. Standing to sue refers to:
(a) The right of a child to be represented in a lawsuit by an adult person
(b) The right of an insane person to sue through a court-appointed representative
(c) Those persons who are so directly affected by a wrong that the courts recognize them as being capable of bringing a lawsuit in relation to that wrong
(d) The capacity of an adult person in Bhutan to bring an action in Bhutanese court
64. Which ONE of the following is a test to decide “causation”? 
(a) Caparo test
(b) Neighbor test
(c) Objective test
(d) But for test 
65. Which ONE of the following is a(n) is a court order authorizing law enforcement to take the individual named on the warrant into custody to answer for charges specified in the warrant?
(a) Arrest

(b) Warrantless arrest
(c) Arrest warrant
(d) Notice to Appear
66. What is aggravated assault? 
(a) When the offender resists arrest
(b) When a deadly weapon is used to cause injury
(c) When action is taken as a form of revenge 
(d) When a group commits violence on an individual
67. What might ‘maladministration’ include? 
(a) Bias
(b) Delay 
(c) Incompetence
(d) All of the above
68. With what is constitutional law concerned? 
(a) History
(b) How a state is governed, the relationship between the organs which runs it and between then and the citizen

(c) How clubs and charities are run
(d) Making lawyers rich
69. Which one of the following does NOT form part of the law of obligations? 
(a) Contract
(b) Tort
(c) Restitution
(d) Judicial review
70. Which one of the following statements about law is FALSE?
(a) A rule of being or of conduct, established by an authority able to enforce its will
(b) A controlling regulation
(c) The mode or order according to which an agent or a power acts
(d) Statements that describe, and predict phenomena as they appear in nature
PART II
Answer ALL questions. Analyse the questions by applying legal principles or logic and write a concise answer to each question directly.
1. H gets into a fight with W (his wife) during which she tells him that she has been having an affair with one of his friends and that his friend is a better lover than he is. H kills W. Identify the offence committed by H. Explain why?
2. What are the elements of criminal liability?  Briefly explain each element.
3. H promised to pay maintenance allowance every month to W (his wife) so long as they remain separate, but H failed to perform his promise. Can wife bring an action to enforce the promise?

4. Explain the concept of ‘proximate cause’ in criminal cases?
5. Explain the concept of ‘class action’, and what are its requirements?

6. What is discharge of a contract? What are the ways of discharging a contract?
7. What is the difference between primary and secondary legislation?
8. What do you mean by “primary sources of law”?   Mention, at least, three examples.
9. What do you mean by an “inchoate offense”? Mention, at least, three examples. 
10. What are the four types of involuntary intoxication? Give an example of each.
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